Name Date

Box & Whisker Worksheet 3

For questions 1 — 5, refer to the box & whisker graph below which shows the test results of a math
class.

Test Scores (as %) for 6™ Period

38 72 88 96 102
02 -
¢ A 1. What was the high score on the test?
157
1 [0 2. What percent of the class scored above a 72?
e e -
g ‘? 3. What was the median score on the test?

s
1}3‘ DQS 4. What percent of the class scored between 88 & 967
e,

5. Do you think that this test was too hard for the students? Explain.

For questions 7 — 10 refer to the box & whisker graph below that shows how much time was spent
per night on homework for sophomore class at a certain high school during September.

Average Minutes Per Night Spent On Homework
e '
- I

0 20 48 60 190

et
.))f) ;29 7. What percent of the sophomores spend more than 60 minutes on
homework per night?

“ O 8. What is the range of times that the middle 50% of the sophomores

; o spend on homework per night?
Aprgt &

Lt 3 A
AF P ing &‘g 9. How many sophomores do not do homework?{%f LP0SH {>

Q\ Sﬁz’ 10. What percent of the sophomores spend less than 20 minutes per night
on homework?



For questions 12 — 23, refer to the box & whisker graphs below that compare homework time per
night with TV time per night for the same group of sophomores.

TV & Homework Minutes per Night

LB Fe Homework Time
0 20 48 60 190 -

: Sidy Y R : TV Time
0 15 60 110 2

75?3 12. What percent of the sophomores watch TV for at least 15 minutes per night?
'y
| ) 13. What is the 3™ quartile for the TV time data?

14. Is it more common for a sophomore at this high school to spend more than 1 hour on homework
or more than 1 hour watching TV? Explain.

Figure Skating Scores
44—t
0 1 2 3 4 5 6 7 8 9 10

lﬁlse the box and whisker plot above to answer the following questions:

a) What is the lower quartile? 3

s

b) What fraction of scores exceeded 4.5? =

-1 )
bl ]
c) What percent of scores were between 3 and 8.5?7 | = ‘>
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The number of text messages 10 different students sent in 1 day is shown in the box-and-whisker plot
below.

, L

T T T 1 T T 1 T 137
02 4 6 B10121416182022

8. What s the minimum number of text messages sent according to the plot shown?
A) O ~B) 2 ) C) 20 D) 8
\__,,,//

W amgmbeu\at the median , accoming to the plot shown?
&} 12 B) 8 C) 14 D) 10

10. According to the plot shown, betweenwhat two numbers.does half of the data lie?
"Ay-10and-12 B)—-8-andt2 &8 and 14 E \f D) 2and 20

11. According to the plot shown, how many text messages are at the 75th percentile ’(l_jgpgr\qga\mle)?
A) 15 B) 12 C) 135 D) 14

i
: e

Figure Skating Scores
<! l | R | | | l | | - ! [ ! | ] l ] [
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{2) Tell two things about what it means that there is no whisker on the above box-and-whisker
plot:

a)
b)

13)Given the following data:

8,9, 10 15, 16&}6319 19, 20 21 22,

A
Which of the following is the box-and-whisker graph for thus data?
,;Ad” i 5 - H LH Mm\\
' 5 ‘\\_ hhhhhh 5 10 15 | 20 B
g M IH — oy M -

5 10 15 20 25 é‘lllnllolil|1lsll'lzlollllzlﬁ



Name Date

1. Mr. Axmann wants to find out which lunch item the students at Heritage like best in the
cafeteria. He interviews students on Team 73 and Team 81.

Population: (1{| Stu den 2 ot hLm % Sample: Q’Udﬂf]”% o Team 75
4 Team 81

Is the sampling method random? Why or why not?

No-tFs nef e B The otner Jf&lms

2. A scientist is studying the mating habits of dolphins at SeaWorld.

Population: 'S Ue,@ | ‘olm v{% Sample: dol P\/\ ths UJ’ WA
(o |
3. The manager of Dunkin Donuts wants to find out how customers feel about pumpkin

flavored muffins. He surveys the customers who come in on the weekend.

Is this sampling method random? Why or why not?

No not f/mv’ fo cuSfners a(/u/;ngﬂw weel .

4. Mr. Rubinetti wants to find out how much time students at Heritage spend playing video
games.
Population: (LY S%MCL@V] 2 ad f/ﬁ’lf Sample: STuclents ha
SUYVE
3. The manager at Olive Garden wants to know if she should add items to the all-you-can-eat

salad. She puts all customer names on index cards, then puts them in a hat and pulls 100
customer cards.

Is this sampling method random? Why or why not?

)/65 ble s fanr B aee custonecs!

6. Name two populations you might want to study and samples from those populations.
a) population: sample:
b) population : sample:

7 Describe a random sampling method you could use to get information about student

allergies.
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1) Using the data below, complete the frequency table.

DATA: 30, 32, 11, 14, 40, 37, 16, 26, 12,33,13, 19,38, 12, 28, 15,39, 11,37,17,27,14,36

2)  The test scores for 10 siudents in Ms. Sampson's homeroom were 61,67, 81, 83, 87, 88,

Number
11-15
16-20

~ 2125
26-30
3135
3640

98, and 100. Which frequency table is accurate for this set of data?

interval |Frequency Interval|Frequency
8y Yoreal— ¢) s 3

i i

Interval [Frequency Interval|[Frequency
B) I3rs0 o o) [m
B o

89, 90,

3)  The graph below shows the distribution of scores of 30 students ona mathema-ti'cé test.
Distribution of Math Test Scores
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Test Scorss

Complete the frequency table below using the daia inthe frequency histogram shown.

Szgsr;s Frequency
91-100| 2
81-90 P
71-80 1
61-70 | O
51-60 |
4150 | >




5}  Which one ofthe following histograms represents the data in the table below?

Interval | Frequency
4-8 . 8
9-13 3
14-18 10
19-23 5
121 12
10 101
2ol g 5
S 6] 3 gl
A) T4 C) § a4
Fragiil ©
2] 2]
0N 75 593 14181953 O-N~78 513 1418793
- Inferval Interval
12 12
10 10
36 6
B) &, D) ¥,
L. [T
2 . 2
0N 7% 573 14181923 N2 573 a8 193
interval ; . Intervat

6) The following data consists of the weights, in pounds, of 24 high school students: 195, 206, 100,
98, 150, 210, 195, 106, 195, 108, 180, 212, 104, 195, 100, 216, 99, 206, 116, 142, 100, 135,

98, 160.

Using this data, complete the accompanying cumulative frequency table and constructa

frequency histogram on the grid below. . n . o
1 L{’L ‘V‘ ';}“ \E‘\ .‘\hbu ‘iig-”‘; 5“)/’\‘(5 ‘\‘\\ N " 'ﬁ'ifh ,f«;i 1
| 7
| |
j
Interval | Frequency ?::fe":l:':;i:}? | _. _5* e |
51-100 L L ‘i g ] -
101-150] 1 13 | ]
151-200] | 1% 7 f
201-250] 4 Y lj i / f
: A et ——+
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16)

17)

18)

The accompanying histogram shows the heights of the students in Kyra's health class.

—

O

Frequency
-~ PN W

70-179 180189 190-199 200-209

160169 1 :
Height (cm)
What is the total number of students in the class? -
A) 15 B) 209 c) 16 ) D) 5
high school

The accompanying histogram shows the height distribution for students ina
mathematics class. .

Height Distribation

N

e
o

Number of Students
h

24
0 _- L hr R LA (0 EXRRY 0 A ‘f::.
15 161- 171- 181- 191-
160 170 180 180 200
Height {centimeters)

What is the total numbW class? : _ .
A) 28 @2@“’_ Y C) 49 D) 1

table below, how many students received a test score between

Using the cumulative frequency
a70-79?
Scores on a French Test
Interval | groauency
40-99 30
20-89 24
70-79 12
£;0-69 12
1" 50-59 P
A) O B) 80 7 C) 12 ) D) 26



Questions 19 through 21 refer to the following:

The test scores for 20 students in a Spanish class are shownin the frequency table below.

Interval | Frequency .
- 90-99 4

80-89 3

70-79 8

60-69 4
50-59 1

19) According fo the infor_mation shown, how many students received a score greaterthana 697

20) The median lies in which interval of the frequency table shown?

“o- H

25) The Statistical Data Bureau published an analysis of incomes and expenditures of 100 average
families throughout the United States. The circle graph below represents the Rosen family's
monthly budget. ,

Resen Famity Butiget

ir totai moithly income is $1,820, how much money do they spend each month on food?
A) $546 / B) $728 - C) $606 D) $182




